SmallRig

Cage Kit for Nikon Z 8

User Manual




- Thank you for purchasing SmallRig's product.
- Please read this Operating Instruction carefully.
- Please follow the safety warnings.

In the Box

Cage x 1 Top Handle x 1

HDMI & USB-C
Cable Clamp x 1




Product Details

@ 1/4"-20 Threaded Hole

@ Arca-Swiss Quick
Release Plate
@ Strap Slot

@ M2.5 Screw

——+2

!
BT

OOl

@)
@ 3/8"-16 Threaded Hole

® NATO Rail

QD Socket

(@) Locating Screw

@ ARRI 3/8"-16
Locating Hole

® Cold Shoe Mount

(® Dual-Head Wrench
@ side Lock Adapter




@ 1/4-20 Threaded Hole @ ARRI3/8-16 © Cold Shoe Mount
Locating Hole

@ Cold Shoe with Anti-off Pin @ Allen Wrench




Installation Instruction for Cage

1. Remove the split D-ring on the right side before installing the cage.




2. Loosen the locating screw ® until it parallel the bottom of the cage.




3. Install the Cage.

Step 1: Put the camera into the cage from back to the front.

*The package do not
include the camera




Step 2: Install the cage via
tightening the 1/4"-20 screw
and locating screw @. /

*The package do not
include the camera

‘\ Step 3: LooseE the écrew of the side lock
‘\ adapter, move the side lock adapter @ to
align with the strap slot of the camera,

then tighten the screw.

* The package do not
include the camera




Step 4: Take off the M2.5 screw @ on the right side of the cage, then lock the M2.5
screw @ to the cage via the strap slot of the camera.

* The package do not include the camera




Installation Instruction for Top Handle

Step 1: Align the top handle with the ARRI 3/8"-16 locating ® hole on the cage.

Step 2: Tighten the ARRI 3/8"-16 locating
screw by the included Allen wrench @ .

* The package do not include the camera




Step 1: Install the cable clamp
to the cage by tightening the
thumbscrew.

Step 2: Insert the HDMI &
USB-C cable.

Step 3: Tighten the
thumbscrew to
* The package do not include the camera secure the cable.




Specifications

Product Dimensions: 182 x 135 x 195.8mm
Product Weight: 3799 + 5¢g

Material(s): Aluminum Alloy

Manufacturer: Shenzhen Leqi Innovation Co., Ltd
Add: Rooms 1083, 501 and 601, Building 5, Fenghe Industrial Park, Nos. 1301-50 Guanguang
Road, Longhua District, Shenzhen, Guangdong, China

Consignor. Shenzhen LC Co., Ltd
Add: Rooms 602, Building 5, Fenghe Industrial Park, No. 1301-50 Guanguang Road, Xinlan
Community, Guanlan Street, Longhua District, Shenzhen, Guangdong, China

RoHS C€ ® & &

PAP
)

° =N
s R & ”
Boite 1 Papier 5 TRI '
- Made in China

Séparez les éléments avant de trier




Eim
fi
e
[
e
-}
N
i
I

SmallRig




RESEEE SmallRig F= @@,
ERAFmZE, BFAFLREES.
BEREEERRIEEEBIRFESINMEES.

FARAE x 1 ERFH < HDMI & USB-C&3k x 1




@ 1/4"-2082473.,
@ MI-RHRER

@ B /gD
M2 54844

%

@
Q0 00

SR/
OO

(©)
@ 3/8"- 1642473
®Bx
Qb#EN
(OF=ve: 2

@ Mzl
® %

@ WLiRF
®@ mnER




ENAL

i
=
®

@ /42088417,
@ Sekpsige




ERIERESE
1. AN ANEHR,




2. BIREPEMIRL © 71, EESHERERTE.




. RRIARIE.
F—& BENNEENRAIBRIE,

*ENNEESB




BT ITRES1/4-2008 2
LAEMIRL @ , $EEE /
RRAE, 4

F=F ITMEREYZ, BUhDER @
BHESENEHILNT, BREL,

NSRS




EE: BTARIEGMM254R2 @ , ARKM258E 2 @ FIENETILSHR
HESRZEIE.

*ENNE RS




LRFEMRZESR
F—& K LEFRAERNARENTSEUL O,

E8 ITRFBREMRE,
BRNBRF @ IEHE.

AN RSB




HDMI & USB-C& LSRR

F—F BU—MFITRYE,
LA RARRIERZEE.

*HENMNEFESRB

$s5 FHAHDMI & USB-C4, O @'&

E= IFEFT
% RLEIELAM .
NS BB




182 x 135 x 195.8mm
3799+ 59

HAT

FIER: RYITMRECIFRNDERLE)
otk PESRERYIHREXRAIEFIEAL KWSEEE 1301-50 SFEATWE 5 5 i
103, 501, 601

2358 R R EAHERAT
etk SPESARERYIHREXIBAIE R KWEE 1301-50 SFFTAET 55 5 # 602

ATIRAE: GB/T 26572-2011

RoHS (€ ® & &

FR

138
Séparez les éléments avant de trier PEEIE




